[N of associated tracks (simToReco) vs hit ]

25

8

N of simulated tracks vs hit

o
<= + > > 0 >,
a H = ~ —
oo T © Q0
N = o X — ™
— o — o
o o 5 S
g o F :
[ts] = a [N
— B ] —
a < 2 o
B s —
o g 3
— & ® 3 e
3 2
[~ E
~ ©
| [ x
33 o 2 S
28 £ — £ N
29 H Z
33 & ] N
g g H A H
3% i g o
] e & g E
Py 5 pis
& &g z z
Sd1 paronisuossy o5& - =
=2 £
ERaY
= ol oy
ED S g 0 o
%Swum_ﬁ N £ © 0 N 0
258, © Q
LIz 2o > > o L
onldsss [ ~ T — ©
~HS S5 = £ I
=30 oo 9] © O
SNEE Sl X — ™
QS =300 ©a
© (#2532 < &
500 ] o S =
S '3 2 = = _
o =TT © [ LD
RIS -1 3 3| 5 i
5555 = 7
o okt — ] ~ — o
< (JITRITR] —_— X [a) —
ER R Q] ©®
c8eQ o @ ™ 0
=——o |[o2¢¢ — > > 0
E———" [§53572 % 0
LI x 4
sss> o ~ S ©
o |[oo o] © ©
N (sgayajyal =1 -
0 k=] — =}
=— ||| : :
=3 k) k| ~
> =]
E E ° £ i
%o s [ 1o @ 5| L 30 L J
S S S 2 S 2 = S
sa|oiuedbupioel oney L sspoiuedbunioel ) oney LJ sajnuedbunioel) oney L sajonreqbunoel)




	Contents
	Page 1


